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Note : Answer from both the Sections as directed. The figures in the right-hand margin indicate marks.

us /Section-A
1. f=fafe 9 foady v & Iax g — 1x10=10
Answer the following multiple choice type questions:
(@) f=N o faRy F wofigra g3 yogall o Wyl e & omum @) quifd &
The ratio of total population with registered mortality in any specific year shows:
(i) ] 79 <X Infant mortality (i) Iy faRre g X Age specific mortality
(iii) TATOMed 94 <X Standardized mortality rate
(iv) STENfT Jg &% Cride mortality rate
(b) 8 w7 e 3 gog et <wmsil oo Sfe ywarem &1 A9 T B @
The measurement of mortality conditions and life expectancy in any specific time
presents:
(i) sawr fiRifA® Population pyramid (i) S99 @fi@T  Life table
(iii) g <X Death rate  (iv) 579 X Birth rate
{c) e ¥ ST THER BT BRY
The cause of high birth rate in India is:
(i) 9IS Social (i) 3ff® Ecomic (iii) W&fd® Natural
(iv) SURIGT |1 All of the above
(d} 2011 B FHMVFET ARA SFTOT sfasE @ o @ Seerorr o ?
The census of 2011 was of which number census of Indian census history?
@ 16™  @iy15™ (i) 4™ (iv) 13
(e) frafaflaa & & Ve @i TRIga w9 B9 a1 8 ?
Which of the following is the most urbanized state?
(i) IR=® STME  West Bengal (i) TOR™  Gujrat
(iii) SR y<¥  Uttar pradesh (iv) HERTS; Maharashtra
(f) foir argurar @ aref 2ar 2 ?
What is the meaning of sex ratio?
(i) RT SR R=Fl WX &Sl & 9T No. of male per thousand female
(ii) IR TR g8 WR gzl B GFAT  No. of children per thousand male
(iii) ¥fd 3R goW R REFdi 3 w@  No. of female per thousand male
(iv) ufr goIR ER'TEﬁ o} fdafea R=ai @) H@@ar  No. of married female per thousand male
(g) AT vagy @) Ay &
The method of population projection is:
(i) 7o R fIffr De-facto method (ii) A Rig RARY De-jure method
(iii) o g§ Heued fafr Mathematical and component
(iv) fee= A Sampling method




(h) aRIR BT oM fadra o TR yaE FX S AT WR YT HHar 2| T8
®U feaer & ?

Family planning can be initiater as well as stabilizer of economic growth whose
statement is it?
(i) 98T Mehta (i) G€9 Lewis
(iii) THEX  Schumpeter (iv) 913 R Bright singh
() “Ra % uRar o™ SRfew & 9= T4 -
In India family planning is adopted in:-
(i) 1950  (jiy 1852  (iii) 1955 (iv) 1960
(i) =T ST START BT e fhar T & —
National population commission is formed in:-
(i)2000 (ii)2001  (iii) 2005 (iv) 2007
. Frefafae ag syl & Sar dRE — 2x5=10
Answer the following short answer type questions:-
(@) R g =X 59 Pt & 7
What is infant mortality rate?
(b) shre= arferer f wed & 7
What is life table?
(c) s ify | ey =y wHsE & ?
What do you understand by population policy?
(d) aRar S Fies | w1 IR & ?
What do you mean by family welfare programme?
(e) g ST ST T € 7

What is national population commission?

Hvg /Section-B 12x5=60
frfeRan < s ueel @ s AR
Answer the following long answer type question.
. g R B A9 3 It 3w oY)
Explain the methods of measuring mortality.
HAYar/OR
fedl aF W dftra Reunfrt foaRag—
Write short notes on any two:-
(a) TG P! BT A6 Importance of mortality data
(b) 1y T4 <X Infant mortality rate
(¢) 9fa g=arem Life expectancy

. UTET Qd TRISROT BT THSY | YA 9gfed & FIaNr UR 99y WHIg qedT & ?
ST BN |
Explain the concept of migration and urbanization. What is the effect of migration
tendency on urbanization? Explain it.

AYAr /OR
ST AT § 379 a1 WK ? ? v PR seforaven § swa e ) Ry
B |
What do you understand by population projection? Discuss its importance in a
planned economy.




5. 9 # Wi fag & Rigial o wusmsy )
What do you understand by population explosion? Is India facing the problem of
population explosion? Explain.

dYdr /OR
ART F SHEEAT & O B FHIRT X AT I Hed! @ AT i |

Explain the major factors affecting the density of population in India.

. Afgen HAlTHEROr ST AT WHIKY § ? Ao Gufige}or @ R F WeR g
SOIY Y HEA B AT Biog |
Explain the concept of women empowerment. Discuss the steps taken by the
government in the direction of women empowerment.

3rerar/OR
Afee Td 59 IR R o fdy fRag |

Write an essay on women and labour market.

3918 /UNIT-V
. TN SR i )y St Feg R
Write a short essay on new population policy.
Y41/ OR
AT A URaR Frte @ anf 3 ] 9 wwedr @ g Sl @1 gl S|

Describe the obstacles in the way of family planning in India and measures for success.




